Figure 1.1: Hyperbolic lines in H
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Figure 1.2: Several parallel hyperbolic lines
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law of sines:
sinh(a) sinh(b)  sinh(c)

sin(a)  sin(d)  sin(y)’

law of cosines II1:

cos(y) = — o08 (a) cos () + sin («) sin ( F) cosh (¢).

cosha = coshbeosh ¢ — sinhbsinhceos A

aire(T)=x—A— B —C.
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dp(z1, 29) = —log[ 21, 29; 27", 25 |.
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[21323;P:Q] =

dn(21,23) =dp(21,22) +dn(22,23)
te(0,1)

dp(0.t) = —log[0,t;-1,1] = —IDE(ES__((__:))))(%: 3) =~ log (E] ‘

dy(ig(21),i%(22)) = —loglig(21),ig(22);ie(21), ig(22) 7]
= —log[ig(21), iz (22): i (27°), ie (23°)]

= —log[21, 225 2{°, 25°] = —log[21, 22; 27°, 25" ] = dp (21, 22).
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diy (21, 29) = dy (0. 1) = —log [ ——
n(z1,22) = dn(0,1t) 03(1”)

21,29 € D.P(21) =0 p(29)=t>0.




